BER KAFTRENEERS)

A1

[X] OEH#KEARKHEME EWA+ F+A—HBREERERENAT—F) HIEX

PEES

F1~%F5 (K)

F1~%F5 (K)

$6 FLEUIUME BER (EEFLETD s UMESD55F S8 LMECET #6 FLESIVHKE (BLEFR (BEFLES URES05 57 S8 LMECET
Egghﬁﬁil&6%@!@60))§ﬁomLﬁlﬁﬁéﬁé CENTELE %ﬁg%ﬁﬁﬁt;é%wtméo) FASMERCERASESC EMNTEERE
1 BAREHEORME 1 BAREREORE
O O
Q) BEmE (SERE) 2 _@AKE (BB
) ) e ) o T
== AER zagpEn| E B RS zenEg| | | Bon (% AER zepEn| = B AER EERE S
B H| (FroriEs) | b | B F | FroriEs) | b 8 | (FrorAES) | WD | B | (FroruES) | W
THE THE
2 (B&) 2 (B8)
] BEE
NI ES TS 47 0.1 B % 47 0. 01 ENAES S 47 0.1 B 3% 47
Gx3) KAR 47 0.01 GE3) KHEER 47
B A 4 0.01
FER FER
2 (B8) 2 (B8)
e seBE
GE1) ~ GE3) () GE1) ~ GE3)  (BS)
3) HmEmE (3) BB
R R N EPe iR R R N EPe iR
e ZEBH (F X D RLED) & 5 RIESR (F ¥ D RLED) &
e 55 e 55
T = | &) T = I )
TR TR
TEE TEE)
2 (B5) 2 (B5)
& ) F W)
S S
S 39 0.1 S 39 0.1
B X 26 0.01 B * 26 0.01
KAR 39 0.01 KHEE 39 0.01
B A 38 0.01
CR E R
(B5) 2 (B5)
@ @) )

Gx1) - (x2) (B&)

Gx1) - (Cx2) (&)




2 ()

3 EBRMEBEREOME
() #BEwE (LAEKGX)

2 (B

3 EBMEFEHOME
(ORN())

Gx1) - CGx2) (B&)

—~

(¥2) (B&)

. FE i . FE) hi D
;ﬁ‘ﬁg % = [EEE % = Rt gﬁg % = Rt % = Rt
B | (FrrRLEER) 1B A (Fr o RLBED) B M| Frorse) 1B A (Fr o RILBED)
E gi = | 21 22 23 24 25 €3) E &R = | 21 22 23 24 25 €3))
= 15 K B |14 15 17 18 19 =) K B |14 15 17 18 19 0.3
= %k |35 38 41 44 46 = %k |35 38 41 44 46 0.01
ES) ES)
=#= |15 17 18 34 35 =#E |15 17 18 34 35 0.1
B % |21 22 23 24 25 B % |21 22 23 24 25 0.01
KEE |15 17 18 19 35 KMEE |15 17 18 19 35 0.01
#8 28 [48 49 50 51 52
(BE) (BE)
1 #& |33 36 42 43 45 w1 & |33 36 42 43 45
@ OM |21 22 23 24 25 B M |21 22 23 24 25
(BE) (BE)
B |21 22 23 24 25 B |21 22 23 24 25
€33 €33
% F |21 22 23 24 25 % F |21 22 23 24 25
42 36 45 43 33 42 36 45 43 33
B |21 22 23 24 25 Bom |21 22 23 24 25
B & |21 22 23 24 25 B & |21 22 23 24 25
(BER) (BER)
H B |21 22 23 24 25 H B |21 22 23 24 25
42 45 51 43 52 42 45 51 43 52
JU 3t |30 32 34 37 39 JU 3t |30 32 34 37 39
(FZ=)10) (FZ=)10)
T oip |21 22 23 24 25 T o#g (21 22 23 24 25
JNAE |21 22 23 24 25 AR |21 22 23 24 25
38 36 49 47 52 38 36 49 47 52
= h R
5 i Bl
2 (B8) 1 (B%)
i i
% i 5 15
F1)




st ) BEHGE (B
SN RS B RS
[EEZ: ZhigEN| E & EEE: EhigERN EEE: ZhgEH| £ E EEE: EHIREN
(FrorILEE) (kW) & (Fr o RILES) (ki) (Fr o RILES) (kW) 5 A (Fr o RILES) (ki)
0.1 B 3% |29 0.01 29 0.1 B 3% |29
KARE | 29 0.01 KAR | 29
B 78 4l 0.0
(8
(B&) GE1) ~ (GX7) (B&)
E7~%9 (B




	放送用周波数使用計画

